Ik

[Ho

CCSRISES] £ M= AMIQIDIR?

(HEAE J13F S

;

RIS

oH |23 |4 e | A

CCS RISE 2021! Ot =

24

QANEUX A
e HE 1262 725
o H& 2278 122

g)

ﬂJIﬂ

Ol AFS

Al
=

HA 22

& =) LICH

S0l SELICH

o LH XHA Ot CCS RISE = O4 0

€ = iStation ¢
M O|

SHAH CC
(et

of
o
0

|0

-_

| Xt OHS

ol

H

i
|’O
m

k]
0=

Jor - ox

|0 =2 Jo
RN
Jo oz
o o
n
030 7
a.

|I|>

LICL M =315

¥
0x
0>
-

=)

0

—

Jpor
H1

%0
0>

|Ch CCSRISE= 12

4

Jon
o o
1
Jin
Ql
O
[

JnooaoJnoor oz J2 0N

Jo
W
1
50
rr
\_J —_—

Ol S0l
PV N o =

Ol oded CIOIE Ol et E
| 21 & LI Ct: EVAAS prediction, SuccessMaker, &'/ 55

hE=s 0ld otE S0 0

[OIE 01l [CHet '

AEH'=2

T
-

g AE'Z

LI CF. Read to Achieve
CCS RISEO!l =CHE LICH

£ = Course Grades.




| —

[—

M
(=

15t CCS RISE 20212 =+

—/

=2
=

SLICLOI RS

o
A

3

[}

S| Dt

=)

o I
2101 Z0i6H] 2

L

[}

F

o

| X

g¢el

12 12192 CCSRISE2021 =0 Kt M E” 220 M S B A& o

CCS RISE 2021101
CCS RISE 2021

HCHITAE S S0 XFE Ol

=
O SIAF A A Ol Al

A
A = LI

b

I.

CH

O 0l et

=

ot Xl

0
ol

3
0
&3
X

ol

R0

S)
uln
It

LICL 229 £= 25X

I

otal == UASLICH

E=H

FXIEF 2F0fLE

[

Ot LICH

== Rlol D110t MIZELICH Jtat

4-5A19 2

=
T

6332 @

JIJ

tXI2t CCS RISE
(= THAOI A ELA, ==3F & k8t 2 0H0il CH

AN

¢

Ot LICH

o

o

O

_1

F

UELICH
CCSRISE CHOI= =0

=

=

LICH
CCS RISEQIl =CHEXE XHAD

Ol Xl OOl It
L{ Ot0l

A A T0

(o]
=

<D

ol

V5] }”

=

LICH Of

LID?

F

=

S

HOF

0

CCS RISEOH|

HAIZIASH O

LH OLOl

0

HOF

=P

b

=
[m=)

LIDE?

|.

=

S

CCS RISEDt 2| 202101R2?

ot 2?

0K

-

bl

o




B
3 - £ 8=
oF R

. S o

i w2
ow__% R = _.

3 R K )
o@D g X0 ow =
W= 4 g o2 6 U n g
= B o3 N — ﬁ 03 g
of T ¥ Cow o W N
Al S i N o= A %
s 3" w2 oW S 8
o 2 X K il 0o o
o ®0Al = < > ®

-y = Dl = nl =~
H ol ol o 2 > & o
ol o ol < 2 — =
20 = a Lo n = &
T oK) K0 =] mM = S 1]
= < ol oo A =]
or Ko <D o S ) =]
g o 5 5 J 2 o
= H D © = N ol S
o N = o ™~
s U3 a2 Iy o s o =
moBoor w o) B0 = ® =
5 8 & o W= el o
= 9 X =2 = L N 5

.18 85 o R TR R I
5|y S = oo 8w o= | O oS 0% o
J| € W o ol o o7 o < | oV & s K
ol | g W K R D O | 0
< o =~ Ok nm 5 K K <0 oo Rl &

ol S 3J

S o Al

== m =.Io 110 .

. 1o =

= F 3 ERT) OF
= R O o W o | W
& OF X w & o1 of | U
” {1 = & o= :_H ) 0%
&a ol . « ol ® o o
2® 0 |[©2X% ° 5 &5 | W
N = ~N K0 o ® | R =
= D F K0 =
= o) ol o = < 3 o 3
=T (U B c o | RTE
S K~ I KO ) oF S




